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1.

10.

11.

In the positional number system, please define a polynomial expression to
present a number system with base of 7, S is the set of symbols, k symbols
for the integer part, and I symbols for the fractional part. (5 points)
(1911.5)50-> (???)3 (5 points)

The bit pattern (11001010000000000111000100001111)2 is stored in
Excess_127 format. Show the value in decimal. (5 points)

(A3B)15 XOR (B99)16 = {???)15 (5 points)

Please draw a computer with the three sub-systems and interconnections.
(5 points)

int a,b; a=3; b=a++; what is the value of b after running of this three-lines
code? Explain? (5 points)

Please explain what is a recursive function? (5 points)

Please explain what is DMA? (5 points)

Why we need 7 layers in Internet system? Which layer that HTTP belongs
to and why? (5 points)

What is the different between “object” and “class” in OOP language? (5
points)

What is the different between “overloading” and “overriding” in OOP
language? (5 points)

- ETVRRETRE (45% )

Use C, C++ or Java to answer the following questions. Note that you cannot use

any library functions except basic I/0 functions in your programs.

1.

Please write a function called int GCD(int a, int b), that will return the
Greatest Common Divisor of a and b. (15 points)

Please write a function called int NolBits(int x), that will return the number
of 1 bits in representing binary format of x. (15 points)

Please write a function called in int SumofPrime(int n), that will sum up all
prime numbers that are smaller or equal to n. And return the sum. (15
points)
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